REVISIONS
NO. [ DATE DESCRIPTION B | cko

378”7 X 1 3/47
CAR., BOLT

*PB—-253

3/8" LOCKWASHER

378" HEX NUT

*PB—-252

PART NO. CATALOG NO. |3/8"CAR. BOLT| 3/8" NUT

» LOCK
3/8" WASHER

F471430 ASFOX H—0122-01 H—0400-03 | H—0520-03
NOTES:
1.0 MATERIAL
1.1 COLLAR — ALUMINUM, A356-T6 % MACLEAN POWER SYSTEMS
1.2 HARDWARE — STEEL A Maclean-fogg Company

2.0 DIMENSIONS IN INCHES

This inf ti is confidential and is the property of Maclean Power
S;

ASFOX

1.5” FIT OVER COLLAR 90°

ms. It may not be made public or roduced except t the [WES._ 19 'SCALE:
stomer mey meke copies for use solel\yr'ql’n instillation, int mu.7 19 uf l_

ENG. REF ) and operation of products supplied by Maclean Power

tems.

W] CEB—4099 6 b




